
578sh Beauty Silk Shawl

Summary
※Note: Like all Japanese patterns, stitch counts given here for foundation chains do not include any chain sts needed for 
turning posts.

Shawl: ch1 to begin, then work according to chart. When body of shawl is finished, work edging A & B around outer edge of 
shawl. Note that edging A is worked along the two short edges, then edging B is worked along the long edge.

Abbreviations:
ch = chain
ch-sp = chain-space(s)
dc = double crochet (US)
rep = pattern repeat(s)

© 2017 Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz. All rights reserved.

Suggested yarn:
• Pierrot Yarns Beauty Silk Cotton [90% cotton, 10% silk; 180 yds/165m per 1.06 oz./30g skein];
     • color #12 lavender, 2 skeins [60g]
     • color #13 baby pink, 4 skeins [100g]

Tools/Notions:
• 2.3mm (approx. US B) crochet hook or size necessary to achieve gauge

Finished measurements:
• height 76cm/29.92"
• width 156cm/61.42"

Gauge (10cm/4" square):
• mesh stitches A & B: 8 chain-spaces and 10 rows
• pattern stitch: 9 pattern repeats and 10 rows

Gauge may vary according to individual crochet style. Change hook size if necessary to achieve gauge. Alternatively, 
rework pattern with your own gauge measurements.
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After working edging A, 
continue to edging B.
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